", 858 e
i e, Fe SRR

NENS

4 145 L
(=5)° = (-5) = (-10)V +(-1) =
3 +(-9) = 8+ (~1)=
1+(-8) = -5 +10=
(-8) "~ 1= (2" = (4) =
30D 4= (-10)° +(-3) =
(~6)" +2= 9D — (=7) =
82 +9= 60D + (=3) =
9™ - ()= 17 +(-10) =
(—9)* +4 = 82 410 =
1> +4= (—8)V +(-2) =
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I =] e e SRR

N

P H B TTEL
0 0+ (1) = (= (-1
(—5)" = (-5)=6 (10" "+ D) =) = Clyg
32 +(-9)=0 8+(-1)=7
49 4
—5\1D = =0_
1+ (-8) = (-7) (=5 +10 5 95
9 1 7 .1
D 1= y= (=12 D —_—gy= L =13_
(=8 " 1=(g)=(C1g) 2 =D =535
. 11 2
3 —4=(-3)=(33) (~10)? + (=3) = 97
64 1
D _(—7y= " =7=
(—6)> +2 =38 >N =5=T,
. 577 1 _ 17 5
82 +9= = =9 6D +(-3) = (—)=(29)
_ 33 1
(A = (2)= 77 =2 12 +(-10) = (-9)
2 8(—2)+10—ﬂ—10i
(—9) +4=285 64 64
. 17 1
12+4=>5 B V()= (5)=(2)
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